
Concursul Gazeta Matematică și ViitoriOlimpici.ro

Concursul Gazeta Matematică și ViitoriOlimpici.ro

 
Concursul Gazeta Matematică și ViitoriOlimpici.ro

Concursul Gazeta Matematică și ViitoriOlimpici.ro

 

�
	����� �� ��  � ���� �� �� ���������$ � ���������� 	� �� ���!��

������� ������ �� � �! � �� ��#��!�� �'�� ���� ��������� 
����� ���� ���&�� ��

� ��#��!�� ����� �������$� �	 � ��#��!�� � �� � �������$� �
 � ��#��!�� �

����� �������$ %� �� � ��#��!�� � ����� �������$� ��$��&� �$ ��� � &�� ���� 

���!� � ��#��!�� ����� �����������

���

����	��� �$ ���� � ��� �$ ���� � � ������ ���!� � � ��#��!�� ����� ����


 ��������� �� ��� � �$� � ��"�� �� �������� ��#��!��� �� � 30 · 3 = 90�

�� � �$� � ����������� ��#��!��� ���� 22+ 23+ 24+ 25 = 94� 
������&� ��

 �94− 90� ����$ �$ 
 ���!� � ��#��!�� ����� ���� 
 ���������

�

�
��
��� �� �� &�%�( ("( �($, � '( '#�'� "(!�%� � "�'(%� � ��  �

	 $/",  � 	�� ��*�	
��
����	�			
	�	����� -� �$#� &� �# #%��+, ����%� ���%,

�($, (%!,'#�%�� %��( , $%�!� � �#(, ���%� �( � ��&'%(� (%!,'#�%� � '%�� ���%�

�( �� ��"� (%!,'#�%� � $�'%( ���%� �( %#-(� �$#� ��" "#( �($, �����-� %��( ,�

��%� �&'� ���%, �� $�  #�( 	�
 -� �� �( #�%� �%��

� � �

��
��	�� �%�!� � � "(!�%� �( # &�"�(%, ���%,� ��  � 	� $/",  � �� &("'

"(!�%� �� �/'� 
 ���%��

��"'%( "(!�%� � �� �#(, ���%� �# #&�&� 105− 9 = 96 �� ���%��

�( �� �� ���%� $#' &�%�� 96 : 2 = 48 �� "(!�%��

��  � 	� $/",  � 
� &("' �� �� "(!�%�� ���� ���%� �� $�  #�( 	�
 �&'�

��

�( #%� � &� %�$�', ��" � 0" ��

�(! 105 : 9 �, �/'( 		 -� %�&'( � 0"&��!", �, &��)�".� aagggrrrr &��

%�$�'�' �� 		 #%� -� 0"��$� # "#(, &��)�"., aagggrrrr ��%� $� $#+�.�� � -�&��

�%� �( #�%�� %#-(�

���� $�  #�( 	�
 &� ��, ���%� � -� �&'� �# #%�', �( %#-(�

	

Problema 2, Clasa a IV-a
Etapa 3, Ediția a XIII-a
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